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1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) In the figure, DCB is a straight line. Find x. [3.0%]

B4, DCB B —&E#&R. Kx.

85°

50°

2)  Find m when 4™ x 4% =412, [3.1%)]

IR 4" x 42 =412, K m.,
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3) Factorize 9x2 + 24x + 16. [3.2%]
E X% 9x2 + 24x + 16,

4) Evaluate 498 x 502. [3.3%]
515 498 x 502,

5) Make a the subject of the formula y = asfl . [3.4%]

BamBat y=—2 MIIE.

a+t1
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6 Sol x+5y=7
0
) olve 2t Ty=11 [3.5%]
. x+5y=7
% e
2x+7y=11
7) Ifa:b=3:4andb:c=6:5, findtheratioa:b: c. [3.6%]

MR a:b=3:4Kb:c=6:5, Ka:b:c.
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8) The cumulative frequency polygon shows the distribution of the weights [3.7%]
(in kg) of a class of F.2 students. Find the median weight in kg.
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HEZDNAR?

—F —S2EERE
The weights of students in a F.2 class

20 —
>
&
a?; 15—
o
g
*ﬁ)o
kg 10—
B
3
5_
Zanm |
OJ\/q — i i i i Y 7

40 41 42 43 44 45 46

Weight (kg)
BE(XF)




MathConceptition 2019

9) Correct to 2 significant figures, the area of a square is 230 cm?. Calculate the [4.8%]

lower limit for the perimeter of the square in cm.

—EEAFHEBERE 2 EENEER B 230cm?. AZEAFEHAR
TIREZZ/DEX?

10)  Convert 500, into a hexadecimal number. [4.9%]

L4753 R 3 5004 o
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11) Ada and Billy are 210 m apart. If they walk towards each other, they will [5.1%]
meet in 20 seconds. If they walk in the same direction, Ada will catch up with
Billy in 140 seconds. Find the speed of Ada in m/s. (Assume the speeds of
Ada and Billy are constants.)

ANEFUNBAFEEE 210 K. GNRMFIBEMIT, HFIFEE 20 FHEBE.
MREFIEE—EREITE, NEEE 140 FHRIELNR. BANEIT

12)  In the figure, ABCD is a square. GBFC and CED are straight lines. [5.2%]
It is given that BG = DE, Z/DAE = 10° and £/ BAF = 35°. Find x.

B4, ABCD =—{EIE#A#. GBFC #1 CED = E 4R
B241BG=DE. /DAE=10°% /BAF=35° 3K x.
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13)  Ifa, b are positive numbers and 20a? — b* = ab, find the value of % . [6.3%]
Ha bBIEE, H20a>-b>=ab, K % HIE -
14)  Find the number of pairs of positive integral solutions to the equation [6.4%]

20x + 19y = 2019,

K2 20x + 19y =2019 HIIE B ERAEEE .
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15)  Find the smallest positive integer n such that n + 76 is a square number while [6.5%]

187 is a cubic number.

KE/NHIEEBE n, F8n+76 B FEFE, M 187 BILHE.

16)  Find the value of 4> + 9% + 14% + ... + 992, [6.6%)]

K42 +92+14%+ ... +992 Hyfa,
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17)  What is the remainder when the 2000-digit number 200020002000...2000 [6.7%]
is divided by 7?

& 2000 ALET 200020002000...2000 FRLL 7 B, BAEE S /D2

18)  Let n be a positive integer such that #32%° = 80”. Find n. [6.8%]

R n =RIEBE, &1 20 =80". Kn.

19)  How many ways are there to pick 3 cells from a 6 % 5 grid, such that any two [6.9%]

of the chosen cells do not belong to the same row nor the same column?

BEDEFETAE—E 6 x5 AHKLEIEN 3%, E15=%3 KiREE
AMABAL A E—1THE—517?
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20)  In the figure, ABCD is a parallelogram of area 280. E is a point on BC such [7.0%]
that BE : EC =1 : 3. AC and BD meet at P, AE and BD meet at Q while AC
and ED meet at R. Find the difference between the areas of AAQP and
ADPR.

B4, ABCD 2—{EEHER 280 B9TFITMHiER.. E & BC EHI—E,
{48 BE: EC=1:3. AC B BD #8%X/ P, AE 8 BD fHXZ 7 Q. AC

B2 ED fH% M R. K AAQP ££ ADPR FIEFEZ £,

End of paper
e

P10




REG NO

MATH g2 208438 | NnavE

CONCEPTITION [grour

SEAT

ANSWER SHEET
[ [ [ ] [
ANSWER ANSWER
1 135 on 6 O
2 10 ok 55° O
1
’ (3x +4)° ol 4 O
; 249996 ol 6 O
: _ X7y 15 324
“=— O O
6 x=2
i o 69670 .
7 9:12:10 o 4 O
. 60 . 1200 o
10 1F44¢ O 20 32 O
[ [ [ [ ]

‘  [o]o]e]e] [e]e]0le] (0l0]0)6] (o]6]e]e] [ole]e]e] (6]e]e]6] (o]6]e]e] [o]ele]e] [e]6]6]6] [ele]ee)





